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21E 22A
— V12X b 1) d=Uo + aY2 or d=qfx2 - X1)2 + (Y2 - Y1)?
Y=1/2X (-3)=1/2(-2) +b }given line 2) Xi+Xo Yi+Y2
m=1/2 2=b 4 fismtiin: o)
o P 3) on the graph #3-6
2) Y=12X-2 #4 2
‘], 4) (AB)2=[(1)- (-2 +[(5) - (3)2=(3)2 + (22 =13
3) 2Y=X-4 ‘{/ AB =+fi3
X+2Y=-4orX-2Y=4
5) (BC)2=[(3)- ()2 +[(-2) - B)2 = (2)2 + (-7)2 =53 5
4) on the graph [ BC =453 L]
) grep T w3
5) Y=2X = Y=-2X e 6) (DEP =[(4)- (DP +[(-3) - (1)]2 = (:3)2 + (-2)2 =13
Lt il N
e DE =+fi3
6 (0. 1), (1,0) ==== 7) onthe graph #7-10 A
aaae
7) Ys-2X 0<-2(-1) 8) (ABR2=[(3)- (42 +[(2) - )R = (7)2 + (22 =53
1<0 0<2 LEiLE - AB =53
no yes
A #12 9) (BC)2=[(5)- (3P +[(-3) - (2)]° = (2)2 + (-5)2 =29 E
8) on the graph - solid line BC =429
l'
Yo-Yi _4-(8) _ 7 _ 10) (DE)? = [(-5) - (2)]2 +[(-2) - (-3)]2 = (-7)2 + (1)2 =50
9) m=—2_L-2"" L oy
Xo - X4 4 -(-1) 5 g, —-\I_— 1[2_
Y=7/5X+b = (4)=7/5(4) +b 4 BE =450/=5 #11-14
20/5 = 28/5 + b 11) onthe graph "
/ =y
b =<8f ¥ 12) ( ('6); i kz('s)) midpoint = (-1, -1/2)
10) Y=7/5X-8/5 s 1 ; 100 @ @0
16) L2 T T Koo | qgy (L2 LA BT midpoint = (1, 1/2)
11) [7/5X +Y=-8/5]5 = -7X +5Y =-8 1 L ~ (RN (—3 7 )
100 cm 100 cm
X = 7.6 x 106cm3 (2)+(B) (2+4) R
12) on the graph 1. 1. 14) ( 5 ) = ) midpoint = (1/2, 1)
60 17) 620%Q 62 _ 3544 mi. 15) on the graph #15-18 []
13-15) | IS { 1 T
24 24 16) (Lz(s) L;(”) midpoint = (5/2, 1/2)
Dp + DF=60 18) m = Y =37.5%
Rp=4 RpTp + RETF = 60 17) ( (8) +(-4) _(E_)_‘*‘_f_'l}) midpoint = (-7/2, 2) IE
Tp=12 | (4)(12) + (8)(TF) =60 19) 5 58 2 2
Rr=8 48 + 8TF = 60 a7 :
8TF=12 1g) (2@ O+ )y migpoint = (o, -312)
e 2 2
Te=11/2 20) —— =547%
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=y

)

d=U@ + a2 or d=yfx2 - X2 + (Y2 - Y1)

( X1+Xo  Yi+Yo )
2 T 2
on the graph

(AB)2 =[(2) - (-1)2 +[(2) - (5)2 = (3)2 + (-3)2 =18
AB =+fi8 =34

(BCY =[(5) - (AP +[(3) - (22 = (3)2 + (1)2=10
BC =4f10

(DE)2 =[(-6) - () +[(-6) - (1)12 = (-7)2 + (-7)2 = 98
DE =488 =742

on the graph

(AB)2=[(5) - (-2)12 + [(1) - (3)]2 = (7)2 + (-2)2 =53

AB =453
(BCY2 =[(3) - (5) +(-2) - (1)]2 = (-2)2 + (-3)2 =13
BC =4fi3
(DE)? =[(-3) - (-1)]2 +[(-4) - (-1)]? = (-2) + (-3)> = 13
DE =+f13
on the graph
(-3) +(-2) (5+(-5) o
( 5 i > ) midpoint = (-5/2, 0)
(Lz(‘z) , 8 *2('5)) midpoint = (0, 1/2)
((;5121.(.4_) , 8 ; 4 midpoint = (-172, - 712)
on the graph
(2 2+ D) migpoint = (-1/2, -1/2)

2 2

2+ (1)+(2) i o

(T, T) midpoint = (3, -3/2)
(M, M)) midpoint = (3, -4)

2 2

#3-6

#7-10

#11-14

#15-18
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fe>
A

22C

1-3) on the graph

4)
5)

6)

13)
14)

15)
16)

17)
18)
19)

20)

-6/2=-15/2+b

3,5 (see graph)

32 + 52 = AE2
9 +25 = AE2 AE = 34

AB2 =[-1 -(-3)]2 4[-2- 412 =4 + 36 = 40
AB = J40 AB =2 {10
BC2=[-1 (3P +6- 42 =22+ 22=8
BC= 48 BC=242

CE2 =[-1-4]2 +[6 - 1]2 =25 + 25 = 50
CE = 450 CE=542

) () = (52 5)

2
-3+3 445

( P )'( P

27/9=16/9 +b b=11/9
Y=4/9X+11/9

on the graph

Y=38X+b = (-2)=3(+2)+b
-8=b Y=3X-8

on the graph

m = -2/5, so perpendicular is 5/2
Y=52X+b = (-3)=5/2(-3) +b
b=9/2

Y =5/2X + 9/2

on the graph

on the graph

(0) =-2(0) - 4 (0)<-2(-4) - 4
0<-4 0<4
no yes

solid, on the graph

#1-5 L {
R - DI
Ed——
{34 1A 3T
AHS
#12-13
b
L
1
V.
given line parallel line
#14-15 /
/
/
/
/
/|
Vi
¥V ¥ 4 perpendicularline
#16-17
A
7
™~
I
T
given line
Vi
#18-20
|
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22D 22E
1-3) on the graph #1-5 [A T { 1-3) on the graph #1-5 } !
4) 4,3 (see graph) !B Cl——~ 4) 4,5 (see graph) FTErT4
5) 324+42=CD? /5/‘ ‘ 31 5) 42452 = AE? X 5;
25 = CD2 Ch=5 D 7 16 + 25 = 41 AE:W A
L _ _ _ 8 Bl
6) AD2=(-6-0)2 + (6-0)2 = 36 + 36 = 72 = 6) BD2=12+92=1+81=82 D
AD = {72 AD =642 BD =482 ‘ -
1
2_32,32-
7) CE2=[4-(-5)2+[3- (-2)2 =81 +25=106 7) BC2=32+32=18 .
CE = 106 #1213 I BC = {18 BC=32 12413
N
) v
8) BD2=(0-0)2+(0-5)2=25 8) CE?=52+102=125 >
BD =425 BD=5 v CE = {125 CE=545 .
442 -6-2 r
6+0 6+5 | _ 1 9) (——) (—5—) = (1,-4) <
9 (23%) (22 - (850 - =) 2
N 5-3 -3+4 1 -
- - 10) (—-u-u=u) s (—— )= (1, —
1oy (2220, Ay o by by AAEE | v ) 17 ) o
2 = 2 2 parallel line given line
#14-15 { 1) 2.3 6+4, 1 i #14-15
1) (il 8. 1) %o e (=) ) 2(-51) .
2 2 2 parallel line
2-1 3 _ 3 7
f5) mdiidle 829 o 0 L B i1
- = A 7
Y 63(52)—(X1b 1(;)(-4) 6/5( 4f+b V=85X+b = (1)=35(4+b af
= - + = = - s
Jo 1=125+b  b=-12/5 A
15/5=24/5+b b =-9/5 Y=3/5%-12/5
Y=-6/5X-9/5 N 13) onthe graph perpendicular line
13) on the graph #16-17 ) #16-17 i
14) Y=2/3X+b = (4)=2/3(3)+b == 14) Y=3X+b = (3 =3M4(1)+b given lin
) - V28 %42 perpendicular 4k -33/4=b Y =3/4 X - 3 3/4
= = line \
15) on the graph
15) on the graph v
\ 16) m=-1/2, so perpendicular is 2/1 or 2 -
16) m = -4, so perpendicular is 1/4 Y=2X+b = (3)=2(0)+b
Y=1/4X+b = (3)=1/4(2) + b \ 3=b mN
312=b Y=1/4X+31/2 Y=2X+3 #18-20 B
17) on the graph 17) on the graph i i
[
18) on the graph 18) on the graph peE ‘
[5Y=3X-15:5 = Y=3/5X-3 [[4Y <3X + 2]+ (-4) = Y>-3/4 X-1/2 e
N
19) (0)=3/5(0)-3  (-5)=3/5(0)-3 19) (1) > -3/4(1) - 1/2 (-2) > -3/4(-2) - 1/2 o
0=-3 yes 52-3 no 1>-11/4  vyes 2>1 no ! i‘ ‘
20) solid, on the graph 20) dotted, on the graph ' .
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